EECS 270 Spring 2023 HW2 answers.

1.

a. 3440=2°+22=100010

b. 137:0=27+23+2%= 1000 1001 = 89;¢
C.

d.

2C256=101100 0010

10001010001001000010, = 1000 1010 0010 0100 0010,= 8A242;6

2. (extra spaces just added for clarity (as mentioned in class). You can ignore them.

a. 321 — 6-bit 2's complement — value out of range

b. -3210 — 6-bit 2's complement — 10 0000

c. -1310 — 4-bit 2's complement — value out of range

d. O — 5-bit 2's complement — 0 0000

e. 381 — 8-hit 2's complement — 0010 0110

f. -1601p — 8-bit2's complement — value out of range

g. -1229 — 8-bit2's complement — 1000 0110

h. 12250 — 8-bit 2's complement — 0111 1010

3.
Sum Carry 2’s comp. Unsigned.

a. 1011+0010 | 1101 0010 5+2=-3 11+2=13
b. 0011+0010 | 0101 0010 3+2=5 3+2=5
c. 0110+1111 | 0101 1110 6+-1=5 6+15=5

4.  [(A+B)+!A*C=IA*IB + IA*C = (IA*IB*C + |A*IB*IC) + (IA*B*C + IA*IB*C). Note that two are the same, so
IA¥IB*C + |A*IB*IC + IA*B*C.
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5. See pages 192 and 193 of our text. The answer below was taken from one of the students because it’s clearer and
better organized than mine (they got 1 point of extra credit).
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